BUCHER

emhart glass

Technical News Bulletin

Steinhausen, October 2016

Servo Electric Take Out — SETO employs a straightforward mechanism design.

— Provides the appropriate balance between takeout motion and increased mold

Spare Parts contact time.

— Reliable and efficient ware handling provided by the Servo Electric Takeout.

TNB254
Page 1/10



BUCHER

embhart glass

Introduction

The Bucher Emhart Glass Servo Electric Takeout Mechanism (SETO) was introduced in 2003 and is a well
proven design and has become an industry standard. It is designed to meet the Glass Industry requirements for
precise and stable ware transfer from the molds to the conveyor dead plate. Newly formed containers are very
susceptible to defects. This makes a controlled takeout motion critical for the ware handling process.

The SETO employs a straightforward mechanism design. In combination with Bucher Emhart Glass Servo
control it makes the takeout motions precise and repeatable. The AC Servo control allows optimizing the speed
and profiles of the takeout IN and OUT motions for each different container. This provides the appropriate
balance between takeout motion and increased mold contact time.

The reliable and efficient ware handling provided by the Servo Electric Takeout is another way that Bucher
Embhart Glass is making the Glass Industry more productive.

System Description

Information regarding the SETO gearbox to clarify spare parts identification and specification on installed base.
The Servo Take out gear box 210-480-1 was introduced in January 2003. From January 2012 the Gear box was
updated. As a complete gearbox it was a 1:1 replacement, but components within the gearbox assembly are
different and this TNB is to inform of differences. Having sub-components different has caused logistic problems
when receiving requests for spare parts. To improve the situation we like to inform about the differences between
the two gearboxes and how to identify which one is which.

For spare parts orders and further communication contact Bucher Emhart glass Sales.

See following pages for identifying the two versions.

TNB254
Page 2/10



BUCHER

emhart glass

Below showing pictures of SETO gearbox Version 1 delivered between Jan 2003 to Jan 2014
| & | N

r
e

ORIGINAL COLOR
GREY

SMALLER END
STOPS

=

IAL NO.[ 548
MFG. NO. [ 21a-

EU MANUFACTURED BY EMHART ¢

TNB254
Page 3/10



BUCHER

emhart glass

Below showing pictures of SETO gearbox Version 2 delivered from Jan 2012 and to this date.

ORIGINAL COLOR WHITE

LARGER END
STOPS

ey [ T T
T e BYCHER

Sy, ¢

Serial number and Manufacturing number plate

TNB254
Page 4/10



BUCHER

embhart glass

Documentation specifying replacements:

SETO (Servo Electric Take Out) Part Number

210-480-1 Gearbox complete 210-480-03

from 2003 to 2012 Jan replaced by:

ED-7295 Gearbox complete 210-480-04 (210-480-02 for ref)
from 2008 to 2012 Jan replaced by:

Spare parts for 210-480-1 from 2003 to 2012 &

ED-7295 from 2008 to 2012

Part Number

OIL LEVEL GAUGE GLASS 59-18072
SLEEVE 210-12701
LEVER 210-475-01
VENT SCREW 210-487-01
NOSE SPRING PLUNGER 210-478-01
NUT 210-12197
COUPLING 59-19554
HEXNUT M10 1180-3318
HEX XOC PIPE PLUG G1/8 2260-1095
HEX SOC SET SCREW M10x40 2640-5177
LUBRICATION FITTING NPTF 1/8 1780-30
NOSE SPRING PLUNGER 210-478-01
PIPE PLUG R1/4 2260-1043
SOCHD SCREW M6x30 2640-1563
SOCHD SCREW M6x35 2640-1840
COVER, MOTOR 210-12349
COVER, MOTOR 210-12429
HANDLE 59-94637
SOCHD SCREW M6x12 2640-1718
SOCHD SCREW M6x20 2640-1719

TNB254
Page 5/10



BUCHER

embhart glass

SETO (Servo Electric Take Out) Part Number

from 2012 and onward replaced by:

210-480-1 Gearbox complete 210-480-03
from 2012 and onward replaced by:
ED-7295 Gearbox complete 210-480-04

Spare parts for 210-480-1 & ED-7295

from 2012 and onward

Part Number

Parts represented on drawing 210-479-03

LEVER ASSEMBLY 210-475-02
AIR PLUG 59-27877
OIL LEVEL GLASS 59-27875
SPRING PLUNGER ASSY 210-478-02
SEALING KIT 59-27879
COUPLING 59-19554

For reference:

TNB093 SETO (Servo Electric Take Out)

TNB254
Page 6/10



emhart glass

BUCHER

IS/AIS machine

1241 L0 L L3ME EEY =o LI WY I | .
R SHILIWITIH NI NMOHS SNOISNIWIO T0¥| = N . S
00-087-0L2 s B erT] 1 _ _ TR TVIDT KLl 200 O[S
002 531835 L3S s5vH [ TN vl 2| 2 |azg 2 |a=q LELOL-LOS OLOW 804 350 |23

oinz-gis-90] o OEmin s [ B umm_ 2 |458 .

o ; A K035 i R e i JI0N |==z2
3131dW0J XOduY 39 EORE-10-02 | %0 n:.,bwlu_ 2| 5|a:d 2 |aes - ZE°
TN EUET) & ;
VS SSr10 ek ssefB Leywa Iy oyuapg | aE davaad| = | 2 [EEH 2 |3EH S5z
: ’ " e M O O umm
HaHoNa NOIS 1A ven| v [z [ E [ w ATND IO JILIHINAS 0380100 ™=
B T T m SCTEN T B R INTWAINDT 50 699 J1A00AT0 TIE0W  |Zge
—+= - B T T 10 I LIHINAS HLIM K08 Y39 T1d  [E5E
T AT : : T F £ dN0dd NOIvoiagn [BsR
TE ST -3
T e ATHO 110 JILHINAS 030103 [2EZ
LECLEN SRR L _INAINGT b e s B0R [EE
— LSS M N B N 10 WIFAINAS HIIM X08 B¥3D Ta [E22
CRYTE H0104] 9 S| - | v [ v - | - - r 7 3
CL ¥ GW IS HES| & WLIIT] - T 5 g g ¢ 31 dN0ET NOTIVITEdm wm
QL X OW MIHTS HXS| 49 &1L -0 1§ W 2 El o=
V11345 HIWDUSA] XDEEYID| & Z0-6LY-DLE| - - 3 - - m_ﬂ

COEELES] WY AR - =

T¢I 035 HIWDLSN) X09EID| L1 WBLY-OIE| - - = - T =

£l

LM ONY "¥5 S5¥19 LAYHWI 40 LNISKOD K

39 00 51 ONY ¥5 S5v10 L4¥HHI 0 ALs3d0dd 3AISMTINT 3HL

Q350711510 B0 Q107317400 38 LON L1576 “J0SH341 HILIWW LIrdms

"T5IN03 NOd ¥5 55910 1ovA 01 _0Hanie

TNB254
Page 7/10

10N

=
y
=
NN =
wiay sl %
NS m
= F
[
f=g

Nw.l

S

=Rz

==86

ROfs

==26T

=hzE

-

— RODE

{z) ofo=

R b

Mot

=55

wELT
P
AEA
2z

T T T T T L




BUCHER

emhart glass

Gearbox

TNB254
Page 8/10



NIS machine

GRIP 2

WASEE 00 B

EMRART GLATS 54

ermbart glas

T

frmr

WIELE T

LR

~

ECUSED |y

PO WS

GRIP 7

“HALSAE WELINT I WD IO 38 15
WAITAS HOVINT N0 B AD 37

SECURED ¢~

HED 1IN

SANH LN O LAISADD NILLLER, 5330l
1 s
1000 T 51 RN HALLW 1IN ES

BUCHER

emhart glass

TNB254
Page 9/10



BUCHER

emhart glass

NIS machine

TNB254
Page 10/10



	Introduction
	System Description

